Limitl nelle funzioni reali

Periodo 3 - UdA 1

Tracciare 1 grafici delle seguenti funzioni in modo che non ci siano tratti orizzontali
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lim f(z)=4 lm f(z)=-0c0 f(2)=-5 lm f(z)=3 lm f(z)=—oc
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lim f(x)=0 lim f(z)=5 lim f(x)=2 lim f(z)= - xgr_noof(a?) =400 lim f(x)=-3
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lim f(z)=—-4 lm flz)=—0c0 f(2)=-2 lm flz)=-2 Ilm flz)=-5

rz—0~ r—

lim f(z)=-3 lim f(x)=4 Ilm f(z)=400 lim f(z)=1 Ilim f(z)=-1 lim f(x)=4

T——5~ z——5+ z—0~ z—0+ T——00 T—+00
Aim_ flz)=-5 lm flz)=+oc0 f(0)=1 Ilm f(z)=-2 Ilm f(z)=3
Aim_fg)=—-c0  lim flz)=2 f(0)=3 lm flz)=-4 Im flz)=5

f(=2)=—4 f0)==3 lm f(z)=-1 lm f(z)=—o0

lim fl@)= =2 lim f(z)= =3 f(0)=-2 lm f(x)=-o0 lim f(z)=—4

lim f(z)=-5 lim flz)=-2 fO0)=-1 lim f(z)=0 lim f(z)=—4

dim f(@) =5 lm f)=3 lm fl)=2 lm flz)==3 lm fl2)=0 lim f(z)=-1
Iim flz)=3 lm flz)=-2 f(@2)=-3 lm f(z)=+o0 lm flz)=-5



